maes /frema J R

il
10, 16 20 63
5 (3 2
7
(I i |
{ | +
IR E MR
s ZHR 7R = Fs ZFR MR #x
1 | T 1 | 424 TENERLE) TR R
2 | 5= AW 2 | 5% T
3 | RIEEF TEW 3 | RER & EA W T RER
4 | &k AW 4 | TiZx BN T fRER
5 |BHRE BURRR/FER B 5 | BAE FURE/ FERR L
6 | Frimige AW 6 | EE4Z4T 5N
7 | FRRIEE A
A #a 44
By \
AL SHMELUNGE, B TEESEE.
e fhhEES
N IR R
JS10 P21530511 P21530512
JS16 P21530521 P21530522
JS20 P2153151 P2153152
JS32 P2153251 P2153252
JS40 P2153351 P2153352
JS63 P2153451 P2153452
iR \
AR BRI, EF BN, R TCAREE.
(mm)
8BS TTHRES B H B C
JS1040 0 00127 M4 % 0.7 3.2 7 8.1
JS1650 0 00128 M5 x 0.8 4 8 2
JS20 125 00036 M8 x 1.25 5 13 15
ﬁ o JS32 10 125 00006 M10 x 1.25 6 17 1.6
H JS40 14 150 00186 M14 x 1.5 8 22 25.4
. JS63 1 150 00188 M18 x 1.5 11 27 31.2
H B
D-CJ
XO
2
% SMC 1147



J =7

SMER~TE
JS10, 16
M il M
L\ =4 INE
- [ Lo -
T | =
CJ [ :
O/
B -
C P H
A
W% 105MELE AR EAMMBRIRT,
JS20, 32, 40, 63 Bibs M
M\ e
AL { { } }:f:?
] ] | — "o |
- | | i L L]
+ I B
%k j o=}
CJ
N\
B
P H
A
(mm)
s M A | B | C H | J |3 BABESAREP AmUE | SARNEH | FE( )
JS1040 O M4 x 0.7 26 8.5 5 12 15 4 4 7 14.4 | 17 4.7 0.5 80 0.01
JS1650 0 M5 x 0.8 345 | 12 13.5 16 2 6 5 10 1 23 5.8 0.5 210 0.02
JS20 125 M8 x 1.25 43. 15.5 - 21 4.5 7 7 13 248 | 2 . 7.3 0.5 1100 0.05
JS32 10 125 M10x1.25 [ 4 5 | 175 - 24 5 8 8 17 2 33.5 8.5 0.5 2500 0.08
JS40 14 150 M14 x 1.5 60 18.5 - 31 5 11 11 22 38.4 | 38 11.6 0.75 6000 0.16
JS63 1 150 M18 x 1.5 745 | 23 - 41 7 14 135 27 4 2| 475 14.3 1 11000 0.31
1148

O
3





